
1.1) DO 10 I = 1,5

11

1.2)

CONTINUE

DO 20 IJ = 2@

21

1.3)

CONTINUE

DO 30 K = 1, 10

DO 40@=  1, 40

4(

3(

1.4)

CONTINUE

CONTINUE

DO 15 I =@  6

I!

1.5)

CONTINUE

D O  5@= 2.,  6

5f

1.6)

7(

6(

CONTINUE

DO 60 I = 1,5

DO70J=l,lO,-10
CONTINUE

CONTINUE

1.3) &lbWS13b~~  index variable

9109  l o o p  b?J&JUFi7hJ&l~~

n1ub4 loop

1.4) 1% I %I&  LWTI:: I L&b  index

variable
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l-6

7-30

39-45

46

47-48

49-54

55-57

x x x x x x

x x x x x x x

X

x x

x x x . x x

x x x

AUil
t

NUMBER

1

2
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HOSPITAL XYZ

BLOOD TYPE 0

CODE NAME TEL. NO. AGE WEIGHT HEIGHT

(K.G.) (CM.)

TOTAL =  x x x x PERSONS

AVERAGE WEIGHT = XXX.XX KILOGRAMS

2 9



l(

18

1 2

19

mm

7890123...

PROGRAMTOSELECTBLOODTYPEO

DIMENSION NAME (8)

s u M w = o

KOUNT = 0

WRITE (6, 10)

FORMAT (35X, ‘HOSPITAL XYZ’/35X,  ‘BLOOD TYPE O’I

IX,  ‘NUMBER CODE’, 14X, ‘NAME’, 17X, ‘TEL.NO.‘, 2X, ‘AGE’,

2X, ‘WEIGHT’, 2X, ‘HEIGHT’/GlX,  ‘(K.G.)‘, 2X, ‘(C.M.)‘)

DO 12 N = 1, 2000

READ (5, 9) ICODE, (NAME (I), I = 1, 8) ITEL, IGROUP,  IAGE,

WEIGHT, IH

FORMAT (16, 8A4, 17, 11, 12, F6.2, 13)

IF(IGROUP. NE. 4) GO TO 12

SUMW = SUMW + WEIGHT

KOUNT = KOUNT + 1

WRITE (6, 18) KOUNT, ICODE, (NAME (I), I = 1, 8),  ITEL, IAGE,

WEIGHT, IH

FORMAT (16, 17,1X,  8A4, 18, 15, F8.2, 16)

CONTINUE

AVER = SUMW/KOUNT

WRITE (6, 19) KOUNT, AVER

FORMAT (26X, ‘TOTAL’, 10X, ‘=I,  15, 3X, ‘PERSONS’/

26X, ‘AVERAGE WEIGHT /\  =h’, F6.2, ‘KILOGRAMS’)

STOP

END
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